[ly- ) -F

- L
Chapter 1 Review /ﬁ? %

Consider the graph of y = f(x). Use the function v + 2 = f{x — 4 to state the coordinates of the image points A’,

B, C,and D" " N > (4 marks)
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2. The domain of y = f(x) is {x | —6£x£4,x € R}and therangeis{y| -
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3. Consider the function f(x) = (x +3) (x — 7). What are the zeros of the function if the graph is transformed by a
{4 marks)

L
4. Write the equation for the transformation of y = x” in the form y = af (b(x - h)) + k. A horizontal stretch by a factor of
(3 marks)

_3 translated 4 units left and 2 units up.
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6. The graph of the function y = g(x) represents a transformation of the graph of y = f(x). Determine the equation of g(x)
(8 marks)

in the form  y = af(b(x — h)) + k.
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7. Determine algebraically the equation of the inverse of the following functions. (
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8. Determine each of the following given the function, flx)=x+5
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9. The key point (24 -6) ison the graph of y=/f(x). What is its image point under each transformation of the graph of
f(x)? i’%“?} W;g\] x| ““}“f\? e (4 marks) }
a) y = -2f(6x) e g% ) b) v+ 4 = —3f (x-5)
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10 a) Graph f{x) ={x+ 2% + 3. State the domain and range.
b) Graph the inverse of fix) = {x +2)?+ 3. State the domain and range.
¢) How can you restrict the domain of the relation so that the inverse is a function?

11. Copy the graph of y = f(x). Then, sketch the graph of its inverse, x = f( »). Determine whether the inverse is a
(4 marks)

function.
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